# STIGALL ENGINEERING ASSOCIATES, INC.

4117 Hillsboro Pike, Suite 206 · Nashville, Tennessee 37215 · Telephone: 615-460-7515 · Facsimile: 615-460-7517

# **Certified Bid Tabulation**

#### City of Crossville Highway 127N 200,000 Gallon Elevated Tank Painting

September 4, 2014

2:00 p.m. (Local Time)

### Preferred Sandblasting & Painting, LLC 107 Anthony Lane Shelbyville, Tennessee 37160

No.	Description	Unit	1	Unit Price	В	id Amount
01.	Perform all surface preparation, interior and exterior painting including logo for the Highway127N tank as specified	1 LS	\$	114,000.00	\$	114,000.00
02.	Replace the dome, utilizing a turned down cap to protect the screen, complete with 24 mesh non-corrosive screen	1 LS	\$	2,000.00	\$	2,000.00
03.	Add a davit arm to the upper manway	1 LS	\$	1,000.00	\$	1,000.00
04.	Remove antennae and radio cable	1 LS	\$	500.00	\$	500.00
05.	Grout under all tank legs to eliminate all voids	1 LS	\$	800.00	\$	800.00
06.	Drill four, 1-inch holes in walkway for drain	1 LS	\$	300.00	\$	300.00
07.	Replace interior safety climb devise	1 LS	\$	3,000.00	\$	3,000.00
08.	Pitt filler (as directed in writing by Engineer)	50 SF	\$	3.00	\$	150.00
09.	Pit welds (as directed in writing by Engineer)	40 SI	\$	12.00	\$	480.00
10.	Rehabilitate weld seams (as directed in Writing by Engineer)	15 LF	\$	18.00	\$	270.00
11.	Allowance for additional miscellaneous Improvements as directed by Engineer	1 LS	\$	6,000.00	\$	6,000.00
	TOTAL AMOUNT BID; ITEMS 1 – 11 INC	CLUSIV	VE		\$	128,500.00

#### Tank Pro, Inc. 5500 Watermelon Road North Port, Alabama 35473

No.	Description	Unit	Ţ	Unit Price		Bid Amount		
01.	Perform all surface preparation, interior and exterior painting including logo for the Highway127N tank as specified	1 LS	\$	168,116.00	\$	168,116.00		
02.	Replace the dome, utilizing a turned down cap to protect the screen, complete with 24 mesh non-corrosive screen	1 LS	\$	3,500.00	\$	3,500.00		
03.	Add a davit arm to the upper manway	1 LS	\$	300.00	\$	300.00		
04.	Remove antennae and radio cable	1 LS	\$	750.00	\$	750.00		
05.	Grout under all tank legs to eliminate all voids	1 LS	\$	300.00	\$	300.00		
06.	Drill four, 1-inch holes in walkway for drain	1 LS	\$	200.00	\$	200.00		
07.	Replace interior safety climb devise	1 LS	\$	880.00	\$	880.00		
08.	Pitt filler (as directed in writing by Engineer)	50 SF	\$	7.00	\$	350.00		
09.	Pit welds (as directed in writing by Engineer)	40 SI	\$	15.00	\$	600.00		
10.	Rehabilitate weld seams (as directed in Writing by Engineer)	15 LF	\$	40.00	\$	600.00		
11.	Allowance for additional miscellaneous Improvements as directed by Engineer	1 LS	\$	6,000.00	\$	6,000.00		
	TOTAL AMOUNT BID; ITEMS 1 – 11 INC	CLUSIV	Æ		\$	181,596.00		

#### Scott I. Enterprises, Inc. 513 Calderwood Highway Maryville, Tennessee 37801

No.	Description	Unit	1	Unit Price	В	id Amount
01.	Perform all surface preparation, interior and exterior painting including logo for the Highway127N tank as specified	1 LS	\$	171,775.00	\$	171,775.00
02.	Replace the dome, utilizing a turned down cap to protect the screen, complete with 24 mesh non-corrosive screen	1 LS	\$	5,200.00	\$	5,200.00
03.	Add a davit arm to the upper manway	1 LS	\$	500.00	\$	500.00
04.	Remove antennae and radio cable	1 LS	\$	500.00	\$	500.00
05.	Grout under all tank legs to eliminate all voids	1 LS	\$	500.00	\$	500.00
06.	Drill four, 1-inch holes in walkway for drain	1 LS	\$	100.00	\$	100.00
07.	Replace interior safety climb devise	1 LS	\$	3,000.00	\$	3,000.00
08.	Pitt filler (as directed in writing by Engineer)	50 SF	\$	8.00	\$	400.00
09.	Pit welds (as directed in writing by Engineer)	40 SI	\$	10.00	\$	400.00
10.	Rehabilitate weld seams (as directed in Writing by Engineer)	15 LF	\$	25.00	\$	375.00
11.	Allowance for additional miscellaneous Improvements as directed by Engineer	1 LS	\$	6,000.00	\$	6,000.00
	TOTAL AMOUNT BID; ITEMS 1 – 11 INC	CLUSI	VE		\$	188,750.00

#### Utility Service Company, Inc. 553 Courtney Hodges Boulevard Perry, Georgia 31069

No.	Description	Unit	U	Unit Price		Bid Amount	
01.	Perform all surface preparation, interior and exterior painting including logo for the Highway127N tank as specified	1 LS	\$ 1	78,390.00	\$	178,390.00	
02.	Replace the dome, utilizing a turned down cap to protect the screen, complete with 24 mesh non-corrosive screen	1 LS	\$	2,100.00	\$	2,100.00	
03.	Add a davit arm to the upper manway	1 LS	\$	1,700.00	\$	1,700.00	
04.	Remove antennae and radio cable	1 LS	\$	1,100.00	\$	1,100.00	
05.	Grout under all tank legs to eliminate all voids	1 LS	\$	900.00	\$	900.00	
06.	Drill four, 1-inch holes in walkway for drain	1 LS	\$	200.00	\$	200.00	
07.	Replace interior safety climb devise	1 LS	\$	1,300.00	\$	1,300.00	
08.	Pitt filler (as directed in writing by Engineer)	50 SF	\$	10.00	\$	500.00	
09.	Pit welds (as directed in writing by Engineer)	40 SI	\$	12.50	\$	500.00	
10.	Rehabilitate weld seams (as directed in Writing by Engineer)	15 LF	\$	34.00	\$	510.00	
11.	Allowance for additional miscellaneous Improvements as directed by Engineer	1 LS	\$	6,000.00	\$	6,000.00	
	TOTAL AMOUNT BID; ITEMS 1 – 11 INCLUSIVE				\$	193,200.00	

## Southeastern Tank & Tower, Inc. 1491 Highway 129 South Lake Park, Georgia 31636

No.	Description	Unit	U	nit Price	В	id Amount
01.	Perform all surface preparation, interior and exterior painting including logo for the Highway127N tank as specified	1 LS	\$ 2	203,130.00	\$	203,130.00
02.	Replace the dome, utilizing a turned down cap to protect the screen, complete with 24 mesh non-corrosive screen	1 LS	\$	4,200.00	\$	4,200.00
03.	Add a davit arm to the upper manway	1 LS	\$	1,100.00	\$	1,100.00
04.	Remove antennae and radio cable	1 LS	\$	1,500.00	\$	1,500.00
05.	Grout under all tank legs to eliminate all voids	1 LS	\$	500.00	\$	500.00
06.	Drill four, 1-inch holes in walkway for drain	1 LS	\$	200.00	\$	200.00
07.	Replace interior safety climb devise	1 LS	\$	2,500.00	\$	2,500.00
08.	Pitt filler (as directed in writing by Engineer)	50 SF	\$	20.00	\$	1,000.00
09.	Pit welds (as directed in writing by Engineer)	40 SI	\$	18.00	\$	720.00
10.	Rehabilitate weld seams (as directed in Writing by Engineer)	15 LF	\$	28.00	\$	420.00
11.	Allowance for additional miscellaneous Improvements as directed by Engineer	1 LS	\$	6,000.00	<u>\$</u>	6,000.00
	TOTAL AMOUNT BID; ITEMS 1 – 11 INC	CLUSIV	E		\$	221,270.00

I hereby certify that the preceding is a true and accurate transcription of the bids, as received.

Robert D. Stigall, P.E., President

Stigall Engineering Associates, Inc. 4117 Hillsboro Pike, Suite 206

Nashville, Tennessee 37215-2728

Tennessee Registration No. 18,048